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AGA KHAN UNIVERSITY EXAMINATION BOARD
SECONDARY SCHOOL CERTIFICATE
CLASS X
ANNUAL EXAMINATONS 2022

Mathematics

Time: 1 hour 40 minutes Marks: 50 (1(/1/

INSTRUCTIONS & Q\

1. Read each question carefull

2. Answer the question@aseparate%ﬁwer {e)@owded DO NOT write your answers on the

question paper.
3. Thereare 100.Qwer numbers on the aRgveer sheet. Use answer numbers 1 to 50 only.
4. In each que@n, there are four cgoices A, B, C, D. Choose ONE. On the answer grid, black

out the cicl® Tor your choice wit ncil as shown below.
XaN
Correct Way Incorrect Ways Candidate’s Signature

1O OO
2®EOO
OE®
«t®EOO

5. If you want to change your answer, ERASE the first answer completely with a rubber, before
blacking out a new circle.

6. DO NOT write anything in the answer grid. The computer only records what is in the circles.

7. The marks obtained on the 50 MCQs will be equated to the total marks of 75 for the theory
examination results.

8. You may use a simple calculator if you wish.
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1.  The given table represents the information about the age of the participants in a family
gathering.
Age Limits - Number of
(in year) Age of the Participant Participants
5-14 6,7,9,14,7,8,9,11,9 9
15-24 16, 15, 15, 17, 18, 19, 19, 20, 21, 22, 22, 23, 21, 20, 15 15
25 _ 34 25, 25, 26, 27, 29, 30, 31, 32, 33, 34, 32, 30, 29, 28, 28, "
28, 25, 28, 28 ', '
35 _ 44 35, 35, 36, 37, 37, 38, 39, 4:13(; 41, 42, 38, 37, 37, 36(<t, 16
( 4
45 -54 46, 47, 48, 49, 50, 54 ]/ 6 \
Total -

A 15
B. 16
C. 19
D. 20

3,000
2,500
2,000 1,800
1,500

1,000

?

Number of Participants

500

Pizza

Use the given information to answer Q\@d Q. b&

i ici ed abouwtheir fav@te fast food. The given bar chart
represents the information coll rom this survey.

The number of the participants that belongs to the age@%S —34is

\ \
&Q

During a survey, the participant

Favourite Fast Food

2,500
2,000
1,200 1100
Chicken  Beef Chicken Chicken
Burger Burger Sandwich  Roll
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2. The total number of the participants that participated in the survey is

A. 2,500
B. 6,600
C. 7,600
D. 8,600

3. The percentage of the most favourite fast food is

25.06%. (l/

29.06%. (1/

32.06%. Q

34.06%.

4. The median of the values 1, 1, 1, 1, 2, 2, 3, 100, 101, %is \§
A1 Q

B. 15

C.

D.

2.5 \ Q
5.  The standard deviation of 1, 0, 1 anQ@ ‘\Q

A. 025 & { Q
B. 050 Q) N

c. 1 (%
> Q~ \v
6. Ifthe average of a, b, Cand d ism, theqthe average of a—x, b—2x, ¢+ xand d + 2x will be

N(oy
: &Y
S
v

COw>

PLEASE TURN OVER THE PAGE

S2202-0721110



Page 4 of 20

10.

From the given cumulative frequency curve, the number of employees having salaries less than
or equal to Rs 50,000 is

Salary Status of Employee

N
L]

50 52
AE, pa—

/"/’

h
=

a
o]

[ )
i

Number of Employee
L -
) =
(%)
Y

—
L]
N

L]

13 \
32 X,
: 4

The range of the data a, 8, 11, 11, J&and t@{g If the @a given in the ascending order,

then the relation between a and %

COw>

A oben Nl
B. E—azlz 6 \/
C. b+l12=-a

D a12_—b\ %’

The Ieast(x@} multiple (LCM) @xpressmns a"",a" and a""

S

O O W

(—) X-y

The highest common factor (HCF) of the expressions 5 7 g is
x> -y X —
A 1
B. x-3
C. x-y
D. X__S
X—-y
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11.  The highest common factor (HCF) of x+a, x*+a® and x*+a° is

A 1

B. X+a
C. X—a
D. x?+a?

12.  Onsimplification of X

2
DX e get
2 b2

B. _BX , q/Q %
x;b \

13.  Onsimplification of
: N\
ey {05\0& (b"&

, o
g N8
C. 2 *Q %’

Wy Q
14, @est common factQr (%:) and the least common multiple (LCM) of two algebraic
e

D.

ssions are a and 1) (2a—1) respectively.
one of the expres@s is 2a® —3a® +a, then the other expression will be

A 1

s« A9

C. a?

D. a’(a-1)(2a-1)

15. The square root of x*+64—16x? is equal to

A, x*-8

B. x?-4x

C. x?+8-4x

D. (x*+8)%—(4x)?

PLEASE TURN OVER THE PAGE
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3
16. In the simplest form, (x—22y) — is equal to
(x+2y)(x" —4y*)

A 1
B, X—2y

X+2y
C x—2y>< X—2y

X—4y \x+2y (l/
D. (x—2y)><\/ X=2y (1/

(x+2y)(x* —4y) (LQ

_ . (a-b)(@@*-ab+b?) .
17.  The simplest form of the expression ( )gg_bg ! )QI% ;
-1 0\0

1

a-b \ Q

a2 _ab+b2 Q% O\Q

a’+ab+b? *

18. If 2|x|+1=15, then the value op@equa@K (b’s

O owm»

<
/(’
Q

BN (o
19. Thesoluticbgf axa—lzi is QQ

20. The solution set of a\/;—a:O is

OO W,
e
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21. If two times of a number exceeds the number by 3, then the number will be

A. -3
B. -2
2
c. 2
2
D. 3

22. The solution set of [x—5/+10=5 is (1(/1/

o N
{0} (1/
{0,10}. %
{0,—10}. 06 ;\
23.  The solution of 1-x <1lis
C \
<1 : Q\ N\
x<-1 Q
x>-1 &
24. If 2 more than half@&r is 5s&en the n (¢'|II be

A.

B. 6
c 7 ~\ CB'
PO
25. Irb tangular plane, the sSa of the pomt -8, 5) is

C.

D. S&QQU

Cow>

oOw>

3

PLEASE TURN OVER THE PAGE
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26. In the given table, the values of x and y satisfy the equation 2x —y = 2.

X 0 p

y q 2

What would be the value of p—q?

A. 4
B. 2
C. 0
D. -2 (I/Q
27. As shown in the given graph, the equation of the line passing through the origin and tha&;’nt
(1, 2) will be \
~3 _
A y=X ;
B. y=X+2 /
C. y= 2X 1 ))
D. y=2x+1 ) / 5

Qi
(4 ,,
28.  Which of the following p@;s on the line givw\t;e equation 2x—y =17
ALY N\ ‘6*
24 Q(O’ O
e
v
G
Jox

&Qz

B.
C.
D

S2202-0721110
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The value of%:30° is

LN
D.%®®'

sin? @ +cos’ @

32. 5 is equal to
l1+tan“ @
A, sec?é.
B. sin?é.
C. cos?é.
D. cosec’d.

|s half of the arc I@] hen the central angle

\Q

V
Y

29. In the given graph, the equation of the line | is
| 3
—3,[2)
A. x-3=0
B. Xx+3=0
C. y-2=0
D. y+2=0
30. Inacircular sector, if the radius of t
subtended by the arc at the centre 0
A. s 2 radians. & &
B. is0.5radians. (b, O
C. is0.25 radians 5\
D. cannot be det€rpi
31.

PLEASE TURN OVER THE PAGE
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33.

34.

35.

36.

37.
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In the given figure, if AB =5 cm and AD =12 cm, then BD is equal to

A. 7cm. B D
B. 13 cm.
C. 119 cm
D. 17 cm.
NOT TO SCALE

A

If the lengths of sides of a right angled triangle are 5 cm, 5 cm and a+€n(/l/hen the value of
a will be

A 32 cem (1/ %
¢ oo NN
D. [5v2+2)cm O

In degrees, (E—Ej radians is equal to (8'\' QQ
- S 2
D. 180° @* s\

If the area of a circular sector is 12 units, thw value of r?e

(Note: Symbols I}%'Xheir usual meaning.)
A. is 6 squageunits. q
. s 2&%‘ units. . Q

B
C. quare units. N
D. \¢arinot be determine \Q

In the given diagram, tﬁbﬂgle of depression subtended by point M at point K is
2
bO

0
k/\® oL
A, (a+b).
B. (a-b).
C. b°
D. a°

S2202-0721110
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OoOw>»

39.

A
B.
C.
D.

40.
A.
B.
C
D
41.
A
B.
C
D.
l.

oCow>»

On simplification o
A
tan?
&

42, e
elation(s) between

56°
63°
70°
140°

0.25 radians.
0.5 radians.
2 radians.

6 radians.

On simplification of sin @xcoté, we get

cosé.

secd.

cosecdH. Q(b'
sin? o .

cosd &

X

N
)

sin &

38. The angle of measurement % radians, in degrees, is equal to

The radius of a circle is 12 cm. If the length of an arc is half of its ragfDs, then the angle
subtended by the arc at the centre of the circle is

A
(19
S

Q

O
\Y

>

a2

cot?

9\
O

*

t

c0s6 x/1— cosB’\/

given circle ha\i@bntre O, if chord AB is equal to chord CD, then the CORRECT

SNs/ are
Arc AB = D
Arc = Arc DAB
Arc ABCD =Arc CDAB
I only.
Il only.
I and I11.
Il and I1I.

A

B NOT TO SCALE

LN
NP

C

PLEASE TURN OVER THE PAGE
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43. Consider the given diagram. If ZC =95°, then which of the following relations of angle is

CORRECT? B

A, /A=85° c

B. /A=05°

C. /B=95°

D. /B=85° A NOT TO SCALE

> ‘U
44. Read the given information about the given diagram. 6 \%
o a circle having centre at point O. Q @
o L1, Lo, L3and L4 are four tangents to the circle at Q\ts A, B, C and D respgttively.
; 5
SRR PN
\ / & O\ Y NOT TO SCALE
[\ (2>' ng\ ‘ZDV
AN

Ls L3

o

o

The angle betwe%'\?e tangent L1 and the Iirﬁament AB is
A, arig anbe %
B. anoBtuSe angle. . Q

C. atute angle.

D aight angle. \Q\

45.  The given diagram, shﬂéﬂo circles having centres O1 and Oa.
IfAC=CD=D a@ radius of each circle is 3 cm, then the distance between O; and O>
will be

A. 6cm. /_\ /_\

g' ?;g‘m NOT TO SCALE
: - A O1 C D o)) B

D. 18 cm.

S2202-0721110
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PLEASE TURN OVER THE PAGE

46. The given diagram, shows three circles having centres C1, C2 and Ca.

The radius of the circle having centre

o Ciis 3 cm.

o Cais4cm.

o Czis 2 cm. A . . B

C: C Cs

The distance between Czand Cz is

A.  1lcm. (1/

B. 2cm. Q

C. 3cm. (1/

D. 4em. NOT TO SCALE

R ‘

47. The given diagram shows a circle having centre at% e chord AB and B@ars Congruent.

If the length of chord AB=a cm, then the sum (@ ths of chord DE a brd EF

*

A. isacm. \\ Q

B. is2acm. Q

C. is3acm. NOT TO SCALE

D. cannot be determined.
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Use the given information to answer Q.48 and Q.49.

The given diagram shows a circle having centre at point O. It is also given that AB = DF and

NOT TO SCALE

_ o]
/DOF =60". B
C
0
A D
F &,

48. The measurement of ZACB is OQ

A.  30°

B. 45°

D. 120°

49. The measurement of ZAOF is & &
O o

A 60° Lox
B. 90° Qj‘ <
C.  120°

D. 150°

50. Forthe given&@\ﬂeral PQRS the CSRRECT relation of angles is
—_oNno
A P50 . QO .
B. z@m ~180° \Q\
C. P+ /R =90°
D

¢
<

/P+/R= 180°®.0 Q

\ V
S

\
C. 60° Y Q
- . Q‘O' O

&Qz

NOT TO SCALE

END OF PAPER
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